r
JTSSE SAMPLE QUESTION PAPER & ANSWER, CLASS-VII

GROUP A

SCHOLASTIC APTITUDE TEST : t*if3 eiderel srerw
Total Marks : 50 S[EW g @o

Each question carries One Mark : 2if$t5! 241 31t > 791

@@« (Science)
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: 1. FEISIG! (@i9l (@RI FEe—

| Minamata disease is caused by —

| a. *ISI9e NI 7/ I (increases the amount fo mercury in
| body)

| b. *TIS FART A {@ (increases the amount of copper in
| body)

| c. *I9ITe MFIR ~Ifkwel g™ (decreases the amount of mercury in
: body)
|

|
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d. @be 727 (None of these)
2. OO (FARY SReS Goieta [RAen 7R3 2

Which one of the following is not a decomposer?
a. (©3< (Fungi)

b. ACFR (Bacteria)

c. ©fen (Plants)

d. @206 (Actinomycetes)

3. SIS AR IRR[ T A—

The use of water in industry is—

a. (5! AW 2pICel (As raw material)
b. @RS 25T (As a solvent)

c. o< {251t (As a coolant)

d. A (All of them)

e GeF—

The climate of Rajasthan is —

4



a. |1 =% T (Cool and moist)

b. 93 (< W<l (Hot and dry)

c. \Tos 9% wFH (Cool and dry)

d. 995 ©i< (TC37<Fl (Hot and moist)
5. ofercol fvae

Select the odd one:

a. 50fe’ (Tornado) b. &&= (Hurricane)

c. 5I2% (Typhoon) d. ©fs™ (Earthquake)
6. RCTFT (FeTe (PRI (20 ?

What is the number of storms on the Beaufort Scale?
a. 3 b. 6 c.7 d. 11

7. WIS 4Re 9o (FINRY IR T 7 ?
Which one of the following is used for shaving.
a. 9os] (79 (Concave lens)
b. =<wet w9 (Concave mirror)
c. ©&# (57 (Convex lens)
d. >oe wieefle (Plane mirror)

8. Ruieeiea paa i el wifieis siafeei—
Magnetic effect fo current was discovered by—

a. GG Sz=wIad (Elbert Einstein)
b. RS9 *'(FC (Christian Oersted)
¢. BIT% ©I62H (Charles Darwin)
d. (19 9 (Marie Curie)
9.  —— TIGI ITOF 1 7 (S |
of a vehicle measures the distance travelled.
a. ©soo (Voltmeter)
b. @G (Ameter)
c. T RGR (Odometer)
d. TSGR (Speedometer)

10. WIS (N B e et gfer (23 |




11.

12.

13.

14.

15.

Which soil horizon is called bed rock?
a. O - %9 (O-horizon)

b. E -%9 (E-horizon)

c. R - %9 (R-horizon)

d. A -5 (A-horizon)

HRIB S 2 e—

Baking soda is —
a. NaCO, b. NaHCO, ¢. NaNO, d. NaOH

ST 4 @fbefy 2w —

The acid present is Amla is —

a. 9z (Ascorbic acid)

b. GIFGIfSS (Tartaric acid)

c. TJhF @b (Formic acid)

d. 512{Gs «ibe (Citric acid)

0w #1<fe OI%17 IR W1 2AfEIH TF—

The process by which heat transfered through solid—

a. #If6& (Convection)

b. #ifs@¢ (Conduction)

c. %= (Radiation)

d. @bre w27 (None of the above)

(o] (FITS SRS %o 7 03 *ifes w19ite Gesifre way 29—
The substance produced in anaerobic respiration is—
a. (F11%% @fbT (Lactic acid)

b. 32125 «s1%°z4 (Ethyl alcohol)

c. 43 (Glucose)

d. @bre w27 (None of these)

SRSe WIS S1on (711 e —

The images formed by a concave mirror are—

a. (<1 AR (Only real)

b. (91 9. (Only virtual)




c. A < AR (Real and virtual)
d. @be 7127 (None of these)

s A ibRT @ AT AR g —
The range of scale reading of clinical thermometer is —

a. 35°C — 42°C b. 0°C — 100°C
c. —10°C — 110°C d. 273°C — 373°C
TGS OFF T o—

Unit of density is—

a. &ll/c=.fil. (gram/cm)

b. &liw/ef (2., (gram/cn?)
c. &ll/=e (&, (gram/cm?)
d. & (gram)

(IR I SISy 7507 2

Which one of the following is non-renewable resources?
a. 7! (Water) b. A (Air)

c. w6 (Soil) d. ¥fe (o= (Crude oil)

faye 2iZe CFLF o 7o 2'a—

The full form of CFL in electricity is —

a. Compressed Flourescent Light

b. Compact Fosphorescence Light

c. Consumption Favoured Lamp
d. Compact Fluorescent Lamp

ST (207 dfiE—

Lichen is —

a. oG 41 Gfen (Saprophytic plants)

b. #_S 141 Bfen (Parasitic plants)

c. ZE K1 &fen (Symbiotic plants)

d. sre2eiterS ! ©fen (Insectivorous plants)

G (I O (IREHC! T (o151 #Ami<fT Sige 2 A0, OFe—

The nucleus of a cell of a living organism is surrounded by a jelly

like substance. It is called—



a. #5’2ler (Protoplasm)
b. 525 gler™ (Cytoplasm)
c. #rerll (Plasma)
d. fGw (Matrix)

A1 @fig—

Water is a —

a. (1% (Compound) b. fi (Mixture)

c. 9H (Acid) d. 9419 (Non-metal)
I FRY F9FF 7/ T—

Audible range of Human being is —

a. 20 — 2000 25% (20 — 2000 Hertz)

b. 200 — 200,000 2% (200 — 200,000 Hertz)
c. 20 — 20,000 2% (20 — 20,000 Hertz)

d. 20 —200,000 Zi5E (20 — 200,000 Hertz)
[T STBee 7S el 1 30! C2re—

The formula used for rate of percolation of water is—
a. SIFHIET 2T = AN AR x SBeHF0T T
(Rate of percolation = Amount of water x Time of Percolation)
O[FeHET 3
b. W@?‘W m - 9“% ﬂﬁm‘f
Time of percolation
Amount of water
Al AT
BIRASS RN
Amount of water
Time of percolation)
d. @575 Gle 927 (None of the above)
©oTS Al (FINCH! RTINS ST (31 ST S<AT (ZRICH! ST |

The chemical equation which represents rusting of iron is —
a. Fe + H O —— FeO + H,0

(Rate of percolation =

C. IFHINF Q] =

(Rate of percolation =



b. Fe + O2 —_ FeZO3
c. Fe+0,+HO —— FeZO3.HzO
d. Fe + O2 + HZO — FeO.HZO

sife (Mathematics)

26. (D) + (= 1)+ (=1)+ ... (500 FRLGF) = ?
D+ 1D+ (1) +... (500 times) = ?
a. 500 b. 1 c.—1 d.-500

27. OO (PG W 2
Which of the following is correct?
a.—12>-9b.-12<-9
c.—12+9>0 d.(-12)x9>0

4
28. 956%’&:%9@@%@@ 42792

4
By what number 9§ be multiplied to get 42?

30 7 1 3

had L 4- 4>
a. 7 b. 30 c. 7 d. 7
6 7 8 9 o o
2 910 GAIXHEDI ST BIGT B SGI2O(E FAFOI
NS ALl T T—
The difference between the greatest and the least fractions out of
678 9
7 ) 8 ) 9 an 10 1S —
ER LI
* 70 ' 56 © 40 72

30. 0.002x0.5=7?
a.0.0001  b.0.001 c. 0.01 d. 1

31, 4573 9FAE €61 491 11 (& Roten @[t sjof 55! g°e—



_____________________ -
The whole number nearest to 457 and divisible by 11 is
a. 450 b. 451 c. 460 d. 462
512,
4 6 3
3 b 2 7 4
Ty 4 Y 12
W 27= 4096 (OTF 2= ?
If 2"= 4096 then 2" = ?
a. 128 b. 64 c. 256 d.32
T q ONE b T X2+ 12 + 22 — xy — yz — zx TG AHCER TR
AT e OREE| [ACJAY)
a+t2b="7
If a and b are respectively the sum and product of the co-efficients
of terms in the expression
xX2+y*+z22—xy—yz—zxthena+2b=7?

Im 2x+§=ix+4 S®x="?

5 1
If 2x+—=—x+4 th =9
372 then x

3 4
a. 3 b. 4 c. N d. 3
5! SIS O 3 2T Fo el =% 209 217N 56 m, (ST =TSR
T Ra—
The length of a rectangle is three times its width and its perimeter
56 m. Then the length is —
a.7m b. 14 m c.2lm d.28 m

qM 2x =3y AT 4y = 52 (ST x 1 z="?
If2x=3yand 4y =>5zthenx:z="?
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a.4:3 b.8:15 c.3:4 d. 15:8 :



8WWGWW4OWWCIWWWI%W2WW |
(SETHAIRTE A9 191 T (S0 ! [ reys 19je( 2°q 2 I

8 men can finish a piece of work in 40 days. If 2 men join them |
then the work will be completed in —

a. 30 =@ (days) b. 32 T (days)

c. 36 7o (days) d. 25 @@ (days)

GBI AR 35% TFAMS 39 (19 FRCE 9 FIBI CoIR1 TR | H7LITH!
TI—

I£35% of a number added to 39 is the number itself, the number is

a. 60 b. 65 c. 75 d. 105

151 et {35411 7S] 2001 o719 (R et T 2 e (FIIF51ne =
QIT—
The cost price of 15 pens is equal to the selling price of 20 pens.

Then the loss percent is —
a. 25% b. 20% c. 15% d. 10%

I I AT AN (9% 7o T 2 T—

16
The simple interest on a certain sum is s of the sum, if the rate

of percent per annum and time is numerically equal, then the rate
of percent is —
a. 8% b. 4% c. 6% d. 12%

ove foae AB, CD, EF %i9e1 (21 | (0@ x +y +z=12

I
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I
I
I
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|
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I
I
I
CRICT] &7 7T ] LIRS g IR A | 7 R # O T2 |
|
I
I
I
I
I
|
I
In the given figure AB, CD and EF are straight lines, thenx+y+z=7? :
I

|

I

I

I

I



43. amm@mlﬁmcﬁmzoﬁsﬁ.wm@ﬂmliﬁmmﬁw
[SRILCRISE:

A car runs 20 kmusing 1 litre of petrol. How much distance will it

1
cover in IZ litre petrol?
a. 25 km b. 30 km
c. 36 km d. 40 km
44.  srrs fral foacis #feeT 29—

The perimeter of the given figure is —

—7 (cm) —
a.27cm  b.28 cm c.36cm  d. 40 cm
45. oo offHT wHE 2’9 —

The median of the following data is —
20,30, 40, 10, 15, 25,35

a. 20 b. 25
c. 30 d. 40
46, i ——=05379 org — =2
1.859 0.001859
1
. -05379 9
I 150 then 5 501859
a.537.9 b.53.79
c. 5379 d. «bre 927 (None of these)



47.  =we BInH (U TN OFF 251 2

How many lines of symmetry are there in the given figure?

a. 1 b.2
c.3 d. 4

48. Mg (9! SIFFOHR 702 AT TI—

Number of faces of the given solid shape is—

a. 4 b. 6 c.9 d. 8

49. R (I FSHG! Ared WMot @B ANCHIT fage 1w T 2
Which three sides of the following will make a right angled triangle?
a.5,12,15 b.6,8,9
c.8,12,17 d.9,12,15
50. @IS T 154 cm’ T QBRI 77—
Area of a circle is 154 cm?. The diameter of the circle will be —

a.3.5cm b.7 cm
c. 14 cm d. 21 cm



GROUP B |
MENTALABILITY TEST : Ni«{5& A< <ot :
Total Marks : 50 3 794 8 ¢o |

Each question carries One Mark : 2fStoi e AA > T97 |
I

I

I

I

I

I

I Direction : In each of the questions 51-55,a series is given with one |
| term missing. Choose the correct alternative given below that will |
|  complete the series. |
| e 3 ©579 51559 2%® GBIt (X et =iitR | Revst BeacaiIea =191 el |
| 313N <5l =17 [efe SR 11051 Aee @TCB! 54 27 |
|51.Z, V,R,N, —

| (@K (b) L (c) J (dM

I (e) None of these Y3(ART GG 723 |

| 52. vB, XC, WD, —

| @VE ®UF () VF (@ UE

| (e) None of these Y3(ART GG 723 |

: 53. TSR, ONM, JIH, —

I (a) DCB (b)) IHG (¢c) FED (d) EDC

| (e) None of these G3ARE OIS 7= |

| 54.16,34,52,70,—

| (a) 85 (b) 86 (c) 87 (d) 88

| (e) None of these G3ARE OIS 7= |

| 55. 169,196,225, —

| (a) 236 (b) 246 (c) 256 (d) 264

| (e) None of these Y3(ART AGIS 723 |

| Direction : In questions 56-60, there are four terms in each question. |
| The relationship that exists between the first two also exists between |
I the last two. But one term is missing. The missing term is one of the |
I five alternatives given below. Find out the correct alternative for |
I each question. |
| fewsiett 2 56-607% 2PTRS 2ifST5 BIRGITE 7 SR | Z10E e 5 were |
| 2=l SToieBt oo HDIe sercet e | 5 BT v 518 T2 weR | 578 7o |
: oG s155] fRewsr o191 fefa SR st |




| 56.3:27::5:?

| (a) 105 (b) 115 (c) 125 (d) 145
(e) None of these Y3 GG 723 |

57. uwW: UvW: : fgH: ?
(a) HgF (b) FgH (c) Fgh (d) fgH
(e) None of these G3ARE OIS 7= |

58. C:100::M:?
(a) 200 (b) 500 (c) 1000 (d) 1500
(e) None of these G3ARE OIS 7= |

59. THREE:5: : FOUR:?

(a) 2 ®)3 (c) 4 (d)5
(¢) None of these G3(ART G1S 77 |

60. S:8::R:?
(a) 9 (b)) 10 (© 11 (d) 12

(¢) None of these G3(ART G1S 77 |

Direction : In questions 61-65, each has five terms. four terms are
alike in some way while one term is different from others. Find the
odd one out.

T 3 61-6572 25T ATSTHITS 2160 2 IR | 3 BIRG! [l FRE® G
137 | 19 TR fom 1 g | Rerg=ich! b Sfered |

61.(a) 36 (b)37 (c)38 (d)39 (e)40

62.(a) Y (b)X W @V (U

| 63. (a) 2018 (b) 2019  (c) 2020
(d) 2021 (e) 2022
| 64. (a) 225 (b) 234 (c) 243
| (d) 252 (e) 260
| 65. (a) eyes (b) lungs  (c) ears (d) kidneys  (e) heart

| (@5F (b) AHS ()F9  (D)IF () TWle
| 66. What will be the mirror image of the word FEAR ?

| FEAR = siwmre @l orfka e

| @FEAR () WVAL (©) AATT (@) EEVE
| (e) None of these (92(AR Bl 73)



67. If SCHOOL is coded as RBGNNK then how will HOUSE be coded |
in that language? |
7t @R e SCHOOL & RBGNNK f251#t 74l 23 7et@ HOUSE |
T (S Tl 29 2 |
(a) GNRTD (b) GNTRD (c) GMRTD (d) GNTDR (¢ ) :
GMTRD |

68. What will be the water image of R? |
R 4 (B! AT ©oT0 (G (T 2 |
(@) ¥ MR @1 DY |
(e) None of these (43(ART GGI€ 7)) |

69. In a code language ADJECTIVE is written as 145236872. How is |
ACTIVE written in that code? |
a9y ©rare ADJIECTIVES foral 22 145236872 f2oitel % wrare |
ACTIVE (5l 7529 |
(a) 136782  (b) 136862 (c) 163872 (d) 136872 :
(e) None of these (43R GGI€ 7)) |

70. If 1=4, 2=8, 3=12 etc. then 8 =? I
Tt 1=4, 2=8, 3=12 To7fM 27 To(F 8 =2 |
(a) 12 (b) 14 (c) 16 (d)32 :
(e) None of these (42T €BI€ 7)) |

Direction: Mitali is walking in a field. First she goes 17m towards south. |
Then turning to the left she walks 10m and then turns left and goes I
17m. Again trurning to the left she walks 7m and stops. Now answer |
question no.s 71, 72 and 73. :

e ¢ ORI (4ai=lR® (e oNitR | At O wiwe@it 12m o'a |
S NI R0 | G 20m Tol S ST R 12m oeT | oo |
IR AETHE YR 10m C91 (T 9’8 | Qfoq O 71, 72017 73 2oT[Ra |
e fra | |

71. What is the total distance Mitali has covered ?




(a) 40m (b) 45m () 5Im (d)54m
(e) None of these \€#/<< «BIG 72T |

72. What is the last direction of Mitali walking ?
ORI (9 (FTE1 G2 (e e

(a) North (8€9)  (b) South (%f=d) (c)East(#?@)  (d)
West (#If%531) () None of these \€#[<] «Gle 723 |

73. How far is Mitali from her original position ?

ot ©izg SIaed! g 719 el o It ?

(a) 3m (b) 4m (c)5m (d)10m (e) None of
these €799 «Ib1¢ 723 |
74. N is Q's brother. A is B's mother. Q is B's daughter. How is A related

N, QI ©Z |ATABITT |Q, BAGITSIIA,NT 527 ¢

(a) Mother () (b) Grand mother (12®!)  (c) Sister (1)
(d) Aunt (3©1)
(e) None of these \€#[7q «ble 72T |

75. Pointing to a man on the stage Rani said, "He is the brother of the
daughter of the wife of my husband." How is the man on the stage
related to Rani?

LT A MZECE (MYAIE AT, “(0€ FIR T A & 1T
2 |” RO 2 Ngze AT T2 2
(a) Father (f[®l) (b) Brother (®1%) (c) Son (7@)
(d) Uncle (@)  (e) None of these ‘@9[<F 4518 72 |

Direction : In each of the questions 76-80, a number of letters have
been given. The letters may be rearranged to make some meaningful

words. You have to mention the first and last letters of the words |
from the given alternatives—

it ¢ 768071 29 2ifSThITS frgstin =112 el (20 | 42 SIR_EE Tgaics I

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
toN? [
I
I
I
I
I
I
I
I
I
I
I
I
I
I



| T g Sefo)el 3 aow i A | 2 *arTes AT o | |
| wD! el CeTRS 7/l Breir < =1l | |
| 76. AGOT |
| @A,T (b) T, 0 (©)T,G (d) GA I
| (GT I
| 77. REGIT |
I @T,Rr ) RT ()GE (dRE |
I ©Rr G |
| 78. ROSEH |
: (@S,0 (b) H,E ()R, S (d H,S :
| (e) S, H |
| 79. HINOR |
| (a) H, N (b) R, N ©R,0 (d) O,R |
| (e)H, O |
| 80. PHANTELE |
| (a) P, N (b) H,E )N, T (dE,T |
| (@PE |
| Direction : In questions 81-85, numbers are placed in the figure on the |
| basis of some rules. One place is vacant and indicated as a question |
| (?) mark. Find out the correct alternative to replace the question |
| mark. |
I
I
I
I
I
I
I
I
I
I
I
I
I
I

ot ¢ 81-8571 2 elfSThiTs fFgsm s wsigs ffe F1 g s |
5a= t1ce 3l T2ez | OItE @51 ZI et g i<k O &b 24@1ss B |

(?) W | 2H[IeS e 3927 s Tea@es #191 fZa 51 |

(a) 10 (b) 11 (c) 19 (d) 26
(¢) None of these @(ART «BIe 7

|

|

5 2 4 |
|

81, 53 43 2@3 I
A i
|

|

|

|

|



(a) 40 (b) 50 (c) 60 () 70

(e) None of these (42T «BIe 73)

3 5 4 3 6 3

83. @

3 4 4 2 2

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

| (a)36 (b) 63 (c) 72 (d) 84
: (¢) None of these (92T B 723)
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

2 5 5]
g[348l 2] [3]o0[ 3] [2]2]4]
4 2 2
(a) 35 (b) 40 (c) 80 (d) 100
(¢) None of these (U3(A9F GBI 73)
30 30 30
s AN, AN /N
5 3 52 6 3
(a) 2 (b) 8 (c) 12 (d 18

(¢) None of these (92T B 73)

Direction : In questions 86-90 there are three problem figures fol-



lowed by a question mark (?) for the fourth one. There exists some |
relationship between the first two problem figures.A similar rela- |
tionship should exist between the third and the fourth problem fig- |
ures. Find the one from the answer figures that correctly replaces |
the question mark.

ot 2 86 3 5131 90 erspTTe fSfGIts 1! fod it bgefthre Wbl et
5% (2) =Tz | @2 75! Ba® [ 476 7S =itz g o v R
T 4R TAF 2 | Ted ez 71t vl Bacs! ey 3 st |

86. Problem figures: 3=p11 foa

SA=ANr=4k

Answer figures: ¥ foq

N\ /| [T A

(a) (b) (©) (d)
87.Problem figures: w7 o7

S c J ?

Answer figures: ¥ foq

J L — | D

(a) (b) (¢ (D
88.Problem figures: =i foa

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I NN B AN I AN & i W
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I



Answer figures: Seqfba

All©Q | D] |©

(a) (b) (c) (d)
89.Problem figures: =i foa

OO0
Answer figures: Te1fba
ol | [0 © | O

(a) (b) (c) (d)
90. Problem figures: 311 fo@

[]]+7 ] ?

Answer figures: ¥ foq

FX[x[#
(a) (b) () (d)

Direction : In question 91-95 on the left side three problem figures |
are given and a question mark (?) is put for the fourth. The problem |
figures have some relations in their sequence. Pick the correct an- |
swer figure which can replace the question mark. [




O O O

o O O

[eXeNeXel

0000

00000 |00000

0000 00000

(a)

(b)

(©

92.Problem figures: s=mi foq

(d)

!

Jd | ?

94.Problem figures: w1 5@

(a) (b) (c) (d)
93.Problem figures: w1 6@
314 | 514 | 44 0
212 112 312 !
Answer figures: ¥ foq
414 311 215 3|4
612 417 413 711
(a) (b) () (d)

fofat ¢ 91 3 7/ 95 7 epTze fSfvies eyl foa frat itz wIe Gedhre |
@B 21 o2 (2) TR |37P7] HadTeies SH@e 61 bl 755 =g | Teq |
foepTEs #[1 «b! foa o 1 AITS et Bz el == 719 T |
91. Problem figures: 3= foa



7 > >
= 0
Answer figures: Seqfba
ﬁ Cd 7 <
AN > AN &

|

|

|

|

|

|

|

|

(@) (b) (©) (d) |
95. Problem figures: 531 foq |
|

|

|

|

|

|

|

|

|

|

SIX |FOUR |THREE| ?

Answer figures: Seqfba

TEN [ELEVEN|SEVEN|EIGHT

(a) (b) (©) (d)

Direction : In question 96 to 100 given below there are four figures in |
each question. three figures are alike in some way while one figure |
is different from others. Find the odd figure out. :

Rt 2 96 7 2@t 100 2ppryes 2ifethics sifHits foa fral s w1 fefit |
a1 iR g« A e 201,58 b1 e a1 wifse | @3 wifiie e Aifz I
T I |

9. @/4\9:]/@

|
|
|
|
|
@ (b © () :
|
|
|




(a) (b) (© (d)

GROUP C

GENERAL KNOWLEDGE & CURRENT AFFAIRS :
Y T A ARE ToiedR
Total Marks : 40 5794 2 80
Each question carries One Mark : 2fSto! 241 A3 > 799

101. SNCRR TEATT TT (FT (BBIR (P! TOI9Ew oo Ko 5l
2o ?

On which unfortunate day was the 'World Trade Centre' of the
United States of America destroyed?

a. S0 (F75%], 2053 (10 Septemer, 2011)
b. >3 (R76%, 200 (11 Septemer, 2001)
c. 53 (R75ER, 2000 (11 Septemer, 2000)
d. So (7554, 2003 (10 Septemer, 2001)
102. 'Midnight Children' SIS &S (&1 (Pl 2
Who is the writer of the book 'Midnight Children'?
a. =9 (M2 (Kiran Desai)




b. SIfN®® (AT (Amitav Ghosh)

C. I #NF (Orhan Pamuk)
d. 5eTI F47T (Salman Rushdie)

103. (RIS (0% o1 77 19 SR I (PR 2T 2
Which country is called the 'Gift of Nile'?
a. 257 (Italy) b. 2f&a (Egypt)
c. 9% (Turkey) d. Fiferet (Brazil)

104, 2029 7S GG (TS SRTS KNG 77 #11© F0Z 2
How many medals obtained by India in the Asian Games, 2023?
a. o3 Bf (382) b. 0451 (107)
c. 20 51 (70) d. 20471 (207)

105. & et fZpiest <re—
Who is known as 'Black Pearl'?
a. (oICeT (Pele)

b. F'9It=®! (Ronaldo)

d. (3" (Neymar)

106.  fEree Bigme SfE< Ferer [Gree (i (T (511 2
Rudolf Diesel invented diesel engine. He belongs to —

a. G (Germany)
b. 519 (China)
c. %1% (Holland)
d. 7% (England)
107. 71 3¢9 elfswioie (i wnifeet 2
Who established the Slave Dynasty?
a. >®¥d (Chandragupta)

b. SeTe](me (Jalaluddin)

¢. 93 (Qutubuddin)
d. 3=ETs & (Bahlol Lodhi)

108. 309 5T® ¥ 7’7 36! [T To—

The winner of the Nobel Prize for Peace in 2023 is —

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I c. WSItelq! (Maradona)
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I



a. ¥ (Z[¥% (Kamala Harris)

b. ifafg s=utt (Narges Mohammadi)
c. & %23 (John Fosse)

d. O=er FiRRel (Toshlima Nasrin)

109. 353 N9 &IeT sTeni@ e 2
Qutub Minar was built by —

a. Q2erl (Sahajahan)
b. F9IW BZAIE (Quiubuddin Aibek)
c. Fogfme RS (Qutubuddin Khiliji)
d. 99 (Babar)
110. IS @I 2BeT AL (Fi (TS (2T 2
Which country was the first to use paper currency?
a. 5™ (China)
b. SICE &g (USA)
c. @W (Sweden)
d. 9 (Japan)
111, coifflem aftafie snikes @i sffee 2
Penicillin, an antibiotic was discovered by —
a. (7133 (Pasteur)
b. (&1l§ (Jenner)
c. ZFhE (Flemming)
d. 7»{“I'CE/(Harvey)
112, “Bf5 or czren e’ et &l A—
Which one is called 'City of Seven Hills'-
a. (9 (Rome)
b. (#If=F (Paris)
c. W87Es (New York)
d. @326 (Guwahati)
113, SIFORI MR RIS GRS 86 25! R's—

The highest post in Indian Civil Service is —
a. € 74 (Finance Secretary)




| b. e 713 (Foreign Secretary)
| c. (FRG A (Cabinet Secretary)
: d. eifes7# 7163 (Defence Secretary)
| 114 TR TGS RS A e S w
| 'Oncology' is a study of —
| a. 512 (Birds) b. el (Tissue)
| c. (N[ (@9 (Cancer) d. (SR (Malaria)
| 115, FHAC 7o (P grene w15re Give—
| Kuchipudi dance is related to —
| a. (6T (Kerala) b. ¥ (Karnataka)
I c. &fT*ll (Orissa) d. SFHA™M™ (Andhra Pradesh)
| 116. ISR (A1 AGIIE 3058 5O (HICH! 0l 7l FfC 2
| What Award was won by social activist Kailash Satyarthi in 2014?
| a. S A6 (Oscar Award)
| b. (45 g 961 (Khelratna Award)
I c. T3 6! (Nabel Award)
: d. @IS 61 (Jyanpeeth Award)
117. ‘el SR 36 3 o=l qE e
: Who is known as 'Apromadi Kabi'?
| a. WgW (el (Mahendra Kandali)
| b. SN&< FW(eT (Madhab Kandali)
| c. 9% FW(eT (Ananta Kandali)
I d. %7 T (Rudra Kandali)
| 118, =« smies (ol ot et 2
: Rishi Sunak is the Prime Minister of —
| a. ¥ (France) b. 2ce1¢ (England)
| ¢. 2% (Holland) d. g3&RCETeS (Switzerland)
| 119. ©oTs (FIRIRY (251 203 5aa SfElF (470 Tege 391 ' ?
| Which of the following game will be included in the 2028 Olympic
| Games?
I
I

a. o3¢ (Football) b. 1&CH0 (Cricket)



121.

122.

123.

124.

c. (1@ (Race) d. (TS (Badminton)

SIS 1T R SIEeN 7! (ISRO) S9! (241 505! SiifeeT—
The Indian Space Research Organisation (ISRO) was established
in the year—

a. 5545 (1979) b. U3 (1961)
c. Sob-3 (1982) d. S5Us (1969)
ST BTG (S WIS TS AN 2o —

The present Chief Minister of trouble-torn Manipur is
a. GRS PR (Manmohan Singh)

b. < 1@ B (N. Biren Singh)

. P9I BINI (Conrad Sangma)

d. &= P12 (Dinko Singh)

SITOT FANG HIFI ([0 (22—

The only Government Bank of India is —

a. OO (B (33 (State Bank of Inida)

b. fRe® @& =@ 2fent (Reserve Bank of India)
c. AGE (66T (I€F (Punjab National Bank)

d. 3T (@3 o9 3feq! (Union Bank of India)
@R @RS gl 4 (@S SAger T2 I 2
Insulin is needed by the patients suffering from —

a. $_! (Cholera) b. #IfeT®’ (Polio)
c. YY1 (Diabeties) d. =feb (Jaundice)
(FIFRIF! G ST SIS »E W (2feet 2

Who was the martyr of the 'Assam Agitation'?
a. 912 (TN (Bahu Dom)

b. ¥t5feT OIefFWIR (Khargeswar Talukdar)

C. ST OlejPvIS (Jayanta Talukdar)

d. = ©i5iawE (Phani Talukdar)

OITOT IR GePIeS Teg 2! ey T e —
The lowest densely populated state of India is—
a. 973 (Assam)




b. S<E{IbeT LA™ (Arunachal Pradesh)
c. (K (Goa)
d. fSIterRIs (Mizoram)

126. TRICOF G (i (729 &1 IffRed 2
Jayadratha of Mahabharata was the king of which country?
a. Y (Matshya)
b. B (Sindhu)
c. lICenifeR (Pragjyotish)
d. =S (Gandhar)

127, ‘GifereieTRe’ gojiee b (=<1 =906! e —
The Jallianwala Bagh massacre took place in —
a. o0 (1920) b. 5555 (1919)
c. Sr@q (1857) d. %90 (1930)

128. TfeR TG =0 o (2re—
The meaning of popular word 'Ubuntu' is —

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I a. 7959l (Truth)
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

b. <! (Humanity)
c. i (Justice)
d. (=¥ (Good)
129. ARSI QRTCHICE FLC Ffr—

The Panama Canal connects—

a. 2T AZPT9IF SITO TR 10O

(Pacific Ocean with Indian Ocean)

b. &g TR (SRR Ao e

(Pacific Ocean with Caribbean Sea)

c. SGEIGP RPN (&b (51 (100

(Atlantic Ocean to Great Lakes)

d. ST S92 RIS (1o

(Atlantic Ocean with Pacific Ocean)
130. SPTE 2f02PTe FIF o1 & QT 23 2

'Burha Raja' in the history of Assam is —



a. GG 152 (Jayadhwaj Singha)
b. < 1<2 (Siva Singha)

c. 2wl7 Bz (Pratap Singha)

d. %% P15 (Rudra Singha)

131, SPTE SIF 2B 19 o1 61 (I 23 2

Who is known as 'Hastirkanya' in Assam?

a. faollel W (Dipali Borthakur)

b. e AIE (< (Nalini Bala Devi)

c. Afox 7941 #(1t% (Pratima Barua Pandey)

d. STfel =S (olFIT (Mamoni Raisom Goswami)

132, SIROF (I e A4 A5eTl Geoiive] s 2
Highest spice producing state of India is —

a. 973 (Assam)

b. T (Goa)

c. (9T (Kerala)

d. ©IfS&=Ig (Tamil Nadu)

133, OISR FRRE Aoe R L5 Ao’ 7o wifeds—
Member of the 'Seven-member Drafting Committee' of Indian
constitution was —

a. ©° ol Zi&{s<! (Dr. Bhupen Hazarika)
b. /M RN 5MEA! (Md. Sir Sadulla)

c. 11749 3941 (Liladhar Barua)

d. 9% 5% I (Nabin Chandra Bordoloi)

134, ORI NS TOrTe ShaIe Heifbba i Afblers (2rz—
The director of Oscar nominated film 'Village Rockstar' is —
a. ©l%° I (Jahnu Barua)

b. SIS %1 (Rima Das)
c. I BfeTel (Kripal Kalita)
d. A1 ¥ (Bani Das)

135, SIg et Sriei 5l 23—

Mother's Day is celebrated on —



a. (' W29 fa© 1 (7edF (2nd Sunday of May)
b. (" M2F ALY (WSIK (1st Sunday of May)
c. SII6 ZF &2 (1€ (1st Sunday of March)
d. 937391 968 727 (None of these)
136, SRI *<SS 2 GG T AT —
The number of Chromosomes present in human body is —
a.83(42) b.8%(46) c.9wYv(36) d.x9(23)
137. "Malgudi Days' &3S (4P N —
Name of the author of the book 'Malgudi Days' is —
a. 919 & =™ (R. K. sarma)
b. WF (& 7979 (R. K. Narayan)
c. ZeTle TG (Salman Rushdie)
d. <[ 77 (Arundhuti Roy)
138, SIOS T AW SIS W LGOFSIRIF (I 2
Who is the architect of new Parliament House of India?
a. S5 (7[(5+1 (Axar Patel)
b. &% (751 (Bimal Patel)
c. FERSIZ. (51051 (Ballavbhai Patel)
d. fe fs & (V. V. Giri)
139. SlReq (@eaiferm el Tl (i 23 2
Who is known as the Napolean of India?
a. b@¥¥ T (Chandragupta-II)
b. d®a® 9 (Chandragupta-I)
c. a3 (Samudragupta)
d. ¥we¥ (Scandagupta)
140. TS ST SICEHA L A7 (I 2
Who is the present editor of the magazine 'Goriyoshi'?
a. SEI %5 29T (Anuradha Sarma Pujari)
b. §e! (514<T (Rita Choudhury)
C. 2(3F3¢ (Tl (Harekrishna Deka)
d. #5571 (Dilip Chandan)




GROUP D

ENGLISH GRAMMAR : 353Gt qjiael

Total Marks : 10 [ T94 3 o

Each question carries One Mark : 2fSto! 241 A3 > 799

I
I
I
I
I
: Choose the correct spelling from the options given in each question below.
I 141. a.choclat b. chocolate c. choklate d.chocolait
I 142. a. aroplane b. aeroplain
| c. aeroplane d. aeroplan
| Choose the plural forms of the words given below.
I 143. buffalo
I a. buffaloies b. buffalos c. buffalose d. buffaloes
I 144. mouse
a. mouses b.mousies c. mice d. mices
| Fill in the blank with the opposite of the underlined adjective in the following
I sentences from the choices given and write its letter in the blank space.
: 145. The dog is a pet animal but the tiger is a
I
I
I
I

a. wild b. fierce
c. strong d. big

146. The ugly crow is jealous of the peacock because it is
a. blue b. big c. beautiful d. spotted

| Choose the approppriate degrees of comparison to complete the sentences and
write the letter in the blank space.

| 147. This shirt is good but that shirt is

a. gooder b. goodest c. best d. better

| 148.  Your box is heavy but mine is

| a. heavier b. heavyer c. heaveer d. heaveir

| Choose the appropriate collective noun from the options and write the letter (a/b/
| ¢/d)in the blank space.

| 149. Isaw a — of gease on the pond.

| a. crowd  b. flock c. herd d. pack

| 150. T1left my — of keys on the table.

a.bundle b.bunch c. band d. gang
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